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xsbfaL ug{ cfpg' xf]nf . pNn]lvt Dofb leq kg{ gcfPsf] xsbfjL pk/ s'g} sf/jfxL gx'g] / lgj]bssf] dfu 

adf]lhd eO{ hfg] Joxf]/f ;DalGwt ;a}sf] hfgsf/Lsf] nflu of] ;"rgf k|sflzt ul/Psf] 5 .     
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GffdM s[i0f nfn k|wfg  

 

afa'sf] gfdM xif{ nfn k|wfg 
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cleofg n3'ljQ ljlQo ;+:yf ln= 

rGb|flu/L lxN; ln= 

l;l6hG; a}+s OG6/g];gn ln= 

Unf]an cfOPdO{ a}+s ln=  

3f]/fxL l;d]G6 O0i6«L ln= 

xfO{8«f] O{n]S6«L;L6L O{Ge]i6d]G6 

P08 8]enkd]G6 sDkgL ln=   

lxdfnog l/ OG:of]/]G; ln= 

cfOPdO{ nfOkm OG:of]/]G; sDkgL 

ln= 

vfgLvf]nf xfO8«f]kfj/ sDkgL ln= 

dGbflsgL xfO8«f]kfj/ ln= 

g]kfn O{Gkm|f:6«sr/ a+}s ln= 

g]kfn OGe]i6d]G6 d]3f a}+s ln= 

g]kfn l/klAns ldl8of ln= 

k|fOd sdl;{on a}+s ln= 

k|e' a}+s ln= 

g]kfn P;lacfO{ a}+s ln= 

:6of088{ rf6{8{ a}+s ln= 

;g g]kfn nfOkm OG:of]/]G; ln= 

;f]gfk'/ ldg/N; P08 cfon ln= 

;flgdf l/nfoG; nfOkm 

OG:of]/]G;  ln=      

cKk/ :ofË] xfO8«f]kfj/ ln=            
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